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��� ������������ ������������ �!!����� � ��!!"#�����$ ���%���� $����"� ����  
� $����"��&��-����$�'����� $������ &���'����� ��"�'����'��� ��&&���(������ 
!"��(��, �)�����*+�� �����&�$����� ���%���� )�&� $����"�, ����&�� � ��'��/��0 
$�$��� ���������/ �� #������$ &��������� R0 �&"8 �� �&"8�. ����$��&��� &�#��� ���� 
����� !"��(�0 � �� #�����$���/ �� )����(���� �#��$���0�����, ��$)�&��"&� � '���� 
'����( � $�����. 9&� $���� �&�$���� ()�&���� ������� )������"��) �=��&"%��� ��&�-
8"��&��� )�������� ���� !"��(�0 � #�����$���� �� R0. ���=���� ���&�����/��$ � ��-
�%������$ &�#"�/����$ ���#����/ �=��&"%���� ��&&���(�0 � �$�+����� )�& '����(, 
)&����&�*+���� �� ������� ��8��&�$ � ���+���� ����� )������"��. 	���� ��&&���(�0 
�� ��=�*������ � $������ ��"'�0��8� =�"%����� ���#��$���0���"*+�� '����(. >����-
#������� )&��)���%����, '�� ��=�*���$�� �&")��$��?��=��� ��&&���(�� �="������-
�� ���&���$� ���%����$� $����"�.  
 
� � * + # % - #  / � � % ": ��&"��"&� ����, ��!!"#������ ���%����, ������������ �!-
!����, �&")��$��?��=��� ��&&���(��, ���&�. 

�����
�� 

9&����������� � ��$, '�� ���%���� $����"� � %�������� ()�&��&�����(�� � ��!!"#���-
��� )�&�$�+����) ����*��� �����������$� ��� ��8���������$� (concerted) � ������+�� �&�-
$� �=+�)&����� ($��8�� ������ $�%�� ��0�� � [ 1 ]). A�� � )������: � )������ %�������� ��� 
����8� )"���8� )&���&������, �"�� $�8�� =� �$�����/�� $����"��. 9����$" ���%���� $����"-
�� �� $�%�� =��/ ����*'����/�� ����'����'��$, ��� $�%�� =��/ ���/�� &�#"�/����$ ���$�-
����8� ���%���� �������'�� =��/?�8� ���������� $����"�. A�� �=+�� ���� ������"���� ��0'�� 
$�����$� $����"��&��0 ����$��� (��) � �$)"�/���0 !�$�����"����0 �)���&����)��. ��� 
)&�$�&� "��%�$ ���/�� �� ������/�� &�=�� )�������� ���. ���8� � 
�0�� $�����$ �� "�����-
����, '�� )�&��&�����(�� $����"�� ���� )&�������� �� ���������� &�#&��� ����&����0 ���#� 
(��� �� ���8� �'������/), � � &�#"�/���� ��8���������8� ���%���� =��%�0?�� $����"�, )&���-
��+�8� � =���&�$" )�&���*'���* �-���#�0 '�&�# )&�$�%"��'��� ��������� � =�!"&�����0  
�-���#/* [ 2, 3 ]. B���/ &�'/ ?�� � =���&�� ���%����� $����"� � )&������ ����0-��"� ���&��-
��(������ �!�&. C�� �������� ������������ ���%���0, ��������*+�� �=����� � $��?��=�$�, 
=ó�/?�$�, '�$ $�%$����"��&��� &���������, �� �= �� ����'�� �"��� )� ��������$ �����$. 
��)&�$�&, � [ 4 ] $�����$ �� � ���� �=��&"%��� ��/��)���=���� �=�����, �$�*+�� )���-
����/, $��/?"* �&����0 )�������� ����. �=&�#������ ����� �=�����0, 8���&�� ����&�, ���)�-
&������: ��� �&�="�� ��8���������8� ���%���� $����"�, &��)���%����� ���/?� '���&�� =��-
%�0?�� ������0. >&�$����� ��&&���(������ !"��(��, �#"'��$�� �$)"�/���0 �)���&����)��0 
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� ��'�����$�� � ��, �&�$� ���=�������0 � �=����� ����� !�$�����"��, ��&�%�*+�� �����/��� 
���%���� =��#��� '����(, ���8�� ����&%�� ���)����(���/��� ���$)���� � ��&����&��$ �&�$�-
��$ ������/�� )������"��. ����8��&�$����� ������ ��&&���(������ !"��(�0 ���/#� ���#��/  
� ����$���0 ����&����8� ���%���� �������"��/��� $����"�, ��� )&�������� �# &�#��'��� 
�������, ��&�%�*+�� ����������"* &��&8���#�(�* $����"� � ����� ����&����� ���#�0, &�#&�� 
� �=&�#������ �-���#�0, � ���%� !�"��"�(�� )�������� �� $��?��=��, =��/?�� ���$��&� $���-
�"�� [ 5 ]. ����&� &�=��� [ 5 ] ����*� �=+�� #���*'����, ����&�� ��������� �� ���$ &�=���$ 
���8� ��)&�������: ����8��&�$����� )�������� ����������� )� ����0 )&�&��� � �8� �&"��� 
)&�)����/ ����$"-��=� ����&����$" ���" ���%�����. ����, )&�#���� �����������8� ���%���� 
� %�������� ����(�, �� $� �+� $��� #���$ � ����&����� ���0����� ����8� ���%����. 

>�%��� ���=&�%���� � ��&����&� �����������8� ���%���� � %�������� �����#�� �.B. J�-
?�& �� ������ ���&�� ��)����� 8��&�����$�'����� !�"��"�(�0 � ��8&��%���$ �)&�������� 
8��&�����$��� [ 6 ]; ����'����/��� !�&$"��&���� ���0 ���(�)(�� ���� � &�=���� �8� "'������ 
� )������������0 [ 7—9 ]. ��������� ���%���� $����"� ()&�����)���%��� =���&�$ ���#��&�-
������'����$ ��(����(��$ $����"� ���������/�� =��%�0?�� ������0) )&������������ � ���0 
���&�� ��� ���%���� �����0 $����"�� ���$����� �� ����$ ��&"%����$ � ������� ��$)�����0 
�%����0 '����(��, ����&"* )���� ����� ��#����/ �%��%�	
��� �%���)
�. A�� )�#������ )&��-
������/ ������������ ��!!"#������ ���%���� ��� �&�0! ��8&��%���0 '����(� � )��� ��)��-
��� 8��&�����$�'����� !�"��"�(�0. 	��&�� )�#������ )��"'��/ �(���� �����������0 ������-
��*+�0 ���!!�(����� ��$���!!"#�� D� (�.�. ��!!"#�� ��8&��%���0 '����(� ��� (���8�)  
� &���"�� ��8&��%���0 '����(� RL, ����&�� �$�*� ��� [ 9 ] 
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 L M2 .R � ��  (2) 
B���/ � — ��#����/; � = �/�, � — )�������/; �M — $������������� �&�$� &������(�� ")&"8�� 
��)&�%���0. ���*�� ��� �&8��� )&� 85 K )��"'��$ RL = 4,3 Å � DC = 0,6 	10–5 �$2/�, �.�. ����� 
�����������0 ��������*+�0 DC � )����0 ���!!�(���� ��$���!!"#�� D ���/ DC/D = 29 %. 
��� ���� )&� 0 
C �$��$: RL = 20 Å, DC = 0,067 	10–5 �$2/� � DC/D = 6 % (&��'�� ������ �� ����-
�� ������ [ 10, 11 ], �$. ���%� [ 12 ]). 9� ���$ �(����$ &�#$�& ��8&��%���0 '����(� � ���� ���-
#������� �8&�$��$: �� ���$��& )&� 0 
C )�&���� 40 Å! �!�&� � &���"��$ ��8&��%���0 '����(� 
����&%�� ����� 1100 $����"� (� � �&8��� ���8� 7). A�� �#��'��� =�, '�� ������������ ���%�-
��� ���������� =��/?�� �=X�$� )&���&������ � #���$��� =��/?�� �&�$� ($��8� =��/?�� ��-
&����&��� �&�$�� ��� ����'����'��� ���%���0).  


�� �=��&"%��/ ��8&��%��� '����(� � ��� ����������/ �� ���0���� � ��$)/*��&��$ ���-
)�&�$����? �&�8����/�"* $������" ��� ���8� )&����%�� �.9. ����$"% [ 13 ]. I"��$ ������/ 
#� �#$������$ �� �&�$���$ &��������� $�%�" )�&�0 '����( rik(t), ��'��/��� &��������� $�%�" 
����&�$� rik(0) ��%�� � #������� )&������, ��)&�$�& �� 2 �� 3 Å (&��. 1). �9&� �������'�� 
=��/?�� �������� &���������� rik(0) !"��(�� C2(t) = �[rik(t) – rik(0)]2� ���%�� �$��/ �'��/ )&�-
���� )��������:  

C2(t) 
 12Dt, 
8�� D — ���!!�(���� ��$���!!"#��. ��� $��/?�� �������� &��������0 rik(0) #�����$���/ �� 
�&�$��� ���%�� ����'��/�� �� ����0��0 �� )&�$�%"���� �&�$��� ��$ =��/?��, '�$ $��/?� 
 

rik(0). A�� ���/ ��&�8�� )&�(��"&� �)&�������� &���"�� ��8&��-
%���0 '����(� [ 13 ]. 

����#�� )������ ����$"%� #���*'����� � ��$, '�� �� 
)&����8��� ����������/ ��"�'����'��� !"��(��, ����&�� �)�-
����*� �����&�$����� ���%���� )�&� '����(, � �� �&�$� ���  
 

���. 1. �����&�$����� �$�+���� ��"� $����"� i � k 
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�=�'�� &���$��&���*��� ����'����'��� ��&&���(������ !"��(��. ��)&�$�&, �# ���)�&�$��-
��� )� !�$�����"����0 �$)"�/���0 �)���&����)�� (�$. [ 5 ]) �#��������� !"��(�� ��&&���(�� 
!�"��"�(�0 '������ ��(������&� �� $����"�� HOD C(t) = ���(t)��(0)� (��(t) — ���������� 
$8�������0 '������ �� �&����8� #��'����) � ������&&���(������ !"��(�� ��)��/��8� $�$��-
�� p(t) = �M(t)M(0)� ���0 %� $����"��, � ��� %� )���$ ��'����*��� $�����$ �� (�$. ���%� 
[ 1 ]). ��#"$�����, ��� ��&&�����&� ���-�� ��&�%�*� ������������ )&�(����, )&�������+�� 
�=��#� ����0 �����0 $����"�� � ����*+�� �� '�����" �� ����=���0 � �� �&�����(�*. �� ��� 
������� ���������. ��)&����, )����� ����$"%� �)�(���/�� )&����#��'�� ��� )&����%������ 
���$�����8� ���%���� ��"� ���������� '����(. 9����$" $�%�� ������/��, '�� �� ���%���� 
���/$� �!!�������$ ��� ������������ ��8���������8� ���%���� $����"� � %�������. B�$�-
��$, '�� ���=�8� ���� ��"�'����'��� ��&&���(������ !"��(�� (��#����$�� ���%� '���&��-
��'�'��$�) "�)�?�� )&�$���*��� ��� ������������ 8���&�8������� )�&�����%������ %����-
���0 [ 26 ]. 

�������", )&����%���"* ����$"%�$, ����� &���� �� ��)��/#����. �� �)�&��� &����#�-
���� �� ������/�� ��� ��#�� �� ������ �� $�����0 ���� (������&�� )&����&����/��� &�#"�/-
���� =��� �)"=�������� ��$� � &�=���� [ 14—16 ]). 9&� ���$ ���������/, '�� !"��(�� C2(t) 
�� ��$�$ ���� �� ��&�$���� � 12Dt. ������ �=+�� ���� ����$"%� �������� (����0, �� ���/�� 
�"%�� &����#����/ �� �&"8�� !"��(���, #�����+�� �� ��'��/��8� &��������� $�%�" )�&�0 '��-
��(. ��%� $� &���$��&�$ (���0 &�� ����� !"��(�0 (�� �=�#��'���� ����&?���� ��"'�0��). 
���#/ ���� ��"�'����'��� !"��(�0 � ����'����'��0 !"��(��0 R2(t) (#�����$���/* �� �&�$�-
�� �&����8� ����&��� �$�+���� '����() �)����� � 9&���%����. 

> &�=���� [ 14—16 ] $� ���%� )���#���, '�� 8&�!��� ������&�� ��"�'����'��� !"��(�0, 
����������"*+�� )á&�$ $����"� � &�#��$ ��'��/��$ &���������$, �)���/ �� 10 Å, )�&�����-
*��� )&� �&�$����, $��/?�� 20 )�. >�#$�%��, ��� ��&�8"��&����� � ���/ )&�������� ��8&��-
%���� '����( (�$. ����� §4). �� ��$�$ "�������/��$ � ���%������$ ���#����/ �=��&"%���� 
��&&���(�0 � �$�+���� )�& '����(, )&����&�*+���� �� ������� ��8��&�$ � ���+���� ����� 
)������"��. �� )��� �� $�%�$ ���/ �)&��������0 !�#�'����0 ����&)&���(�� ���$ ���$ &�-
#"�/����$ � )����$" 8������ (��/ �����0 ����/� — )&��������/ )��&�=��� �)������ )�������� 
&�#��� ����� &���$��&����� ��$� ��"�'����'��� ��&&���(������ !"��(�0. 

�������	 �	�0��	 

> �����0 &�=��� )&������� &�#"�/���� �#"'���� $����"��&��-����$�'����� $�����0 ��-
��, &���'������� � NVT-����$=�� )&� )�������� 1 8/�$3 � ?�8�$ $�����&������ 2 !�, �� � &�#-
��$� )����(����$� �#��$���0�����, � &�#��$ ����'�����$ $����"� � )&� &�#��� ��$)�&��"-
&��. > $������ �# 3456 � 10 240 $����"� ��)��/#����� )����(��� ���������—9������ (�9) 
[ 17, 18 ] )&� ��$)�&��"&� 250, 280 � 310 K. ������ �# 10 000 � 50 000 $����"� &���'�������  
� )�$�+/* )����� $�����&������ Gromacs � )����(����$ TIP4P )&� ��$)�&��"&�� 280, 490  
� 700 K. ������/����/ $����/��0 �&�����&�� ���������� �� 1 �� 10 ��.  

�)���= ��)��/#������ &�#"�/����� $�����&������ �)�?�$ �� )&�$�&� �&�����&�� �����0 
� 10 ��. > ���� $�����&������ ����0 �&�����&�� '�&�# ��%�"* )������"��" #�)������� ���"-
+�� ���&������ ���$�� �����&���, ����&�� ��&����&�#����� )���%���� $����"�� ����. > &�-
#"�/���� ��� ���0 $����/��0 �&�����&�� ��$� =�� ��#��� ��=�& �# 10 000 )�����������/��� 
$8�������� ���!�8"&�(�0 $�����, ��%��� �# ����&�� )&���������� � ��?�$ &��'��� �)����$ 
���&����� ���$�� �����&��� ���� $����"� � �����0 $�$��� �&�$���. ���'�� ���� ��&&���(�-
����� !"��(�0 )&������� � ��)��/#������$ ���/�� ���� ��=�&�� ���!�8"&�(�0. > ���� ����8� 
&��'��� $� �&�������� �#��$��� &��)���%���� )�& $����"� ������&�0 ��=&����0 ���!�8"&�-
(��, ��#����$�0 ���&����0, � �� &��)���%����$ � )�����"*+�� ���!�8"&�(���. 

��� )��"'���� 8������ � �����&�$���� "���0'���� (��&�?� ���)&��#����$��) ��&&���-
(������ !"��(�0 $� )&������� "�&������� &�#"�/����� )� =��/?�$" ����'����" ���&����� 
���!�8"&�(�0, )&������%�+�� "'����" $����/��0 �&�����&��, ������/����/ ����&�8� �"+���-
����� )&���?��� �%����$�� ��&����&��� �&�$� ����$�� ��&&���(�0. 	��, �� �&�����&��  
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���. 2. �&����0 ����&�� �$�+���� $����"� R2(t) = �[ri(t) – ri(0)]2� (%); )&��#������ �� R2(t) )� �&�$���  
                                                            (Å2/)�), N = 3456, )����(��� �9 (�) 

 
� 10 �� ��� &��'��� ��&&���(������ !"��(�0 ������/����/* � 2 �� $� ��)��/#����� � ��'���-
�� ���&����� 2000 ���!�8"&�(�0 '�&�# 4 )� � �� ��'��/��8� "'����� � 8 ��. 9���%���� $����"� 
� ��%��0 �# ����� ���&����� ���!�8"&�(�0 �&�������� � )���%����$ $����"� � 2000 ���!�-
8"&�(���, ����"*+�� ��)��&��������� #� ���&����0 � ��'���� 2 ��. ��� ��%��8� ��=&����8� 
���)�#��� ��'��/��� &��������0 ��&&���(������ !"��(�� &���'��������/ �����/��. 

9&� $�����&������ $� ��)��/#����� )�&����'����� 8&���'��� "������, ��8����� ����-
&�$ $����"��, ��?��?�� #� ���"*-��=� 8&���(" $����/��8� �"=�, )�&��������/ ��"�&/ �"=�  
� �8� )&�����)���%��0 8&���(�. 9����$" �� �&�$� &��'��� ��&&���(������ !"��(�0 ��� )&�-
���/��8� "'��� )�&�$�+���0 $����"� $� ��������������� �� �������� �&�����&��, ��'���*-
+���� � �� )���%���� � ���&����0 ���!�8"&�(�� � �� &�#&����$�� �� 8&���(�� �"=� )�&����-
'����$� "������$�. 9�����/�" $����$��/��� �$�+���� $����"� $�%�" )�����������/��$� 
���!�8"&�(��$� #� 1 )� ��%� )&� ��$�0 ������0 ��$)�&��"&� �� )&���?��� 10—20 % &�#$�&� 
�"=�, )&�(��"&� �������������� )&������� ����#��'��. > &�#"�/���� $� )��"'��� ����0�"* 
#�����$���/ �&����8� ����&��� �$�+���� $����"� (&��. 2) � ���#����� � ��$ )�&��� ��&&���-
(������ !"��(�0 (&��. 3 � 4) �� )&���%���� 8 ��, '�8� =�# ����8� ��������������, ����'��, �� 
=��� =�.  

B�$���$, '�� �=+�0 ��� ���� ������������� ��"�'����'��� ��&&���(������ !"��(�0 � $�-
����� � &�#��$� )����(����$� �#��$���0����� ����&?���� ��������, ������/�� ����'�*��� 
���/�� '�������� #��'����; ��� ��������/���"�� � ��$, '�� ��=�*���$�� #�����$�&����� �� 
#������ �� ��=&����8� )����(���� � '�� � )&�(��"&�� �'��� ��� )&��(�)���/��� �?�=��. 

>�� ��&&���(������ !"��(��, �&�$� $�����0 ����, &���'������� ���%� � $����� ��"'�0-
��8� ���%���� ���#��$���0���"*+�� ��'��. ��� =��� �&8���#����� ����"*+�$ �=&�#�$.  
> ��'����� ���&����0 ���!�8"&�(�� ��)��/#����� ��"'�0��� &��)���%���� 10 000 ��'�� � �"-
=�'����$ =���� � &�#$�&�$ 66,88 Å — ��'�� ����$ %�, ��� � $����� ���� )&� N = 10 000. ��� 
��#����� )�����������/����� ���!�8"&�(�0 ��)��/#����� $���� �����-
�&�� � ����*'����$ 
&��'���$ ���&8�� �#��$���0����� '����(. ��� ��%��0 ���&����0 ���!�8"&�(�� =��� )&��#��-
���� )� 100 000 ?�8�� $�����&������ � $����$��/��$ �$�+����$ #� ?�8, &����$ 2,22 Å. B�-
)��/ ���!�8"&�(�0 )&������� '�&�# ��%��� 10 ?�8��; )&� ���$ &��)&�������� �$�+���0 $�-
%�" )�����������/��$� ���!�8"&�(��$� )&��=&����� )&����'���� 8�"�������0 ���. ����&��� 
�&�$��� $�%�" #�)������$� ���!�8"&�(��$� )&���$��� &����$ 1 )�. >���'��� $����$��/-
��8� �$�+���� #� ���� ?�8 �����-
�&�� =��� ��=&��� ����$ �=&�#�$, '��=� ���!!�(���� 
��$���!!"#�� ���#���� ����$ %�, ��� � ���� )&� T = 280 K. ��#"�/���� &��'��� ��&&�����&�� 
"�&������ )� 100 ��#�����$�$ ���&����$ ���!�8"&�(��$. 
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���. 3. �&����0 ����&�� �#$������ �����&�, �����-
��*+�8� ��� $����"�� i � k, #� �&�$� t � ��'��� 
             ��=�*����� V2(t) = �[rik(t) – rik(0)]2�R 0. 
N = 3456, T = 280 K. ��'��/��� &��������� $�%�" $���- 
    �"��$� R0 (c��#" ���&�): 2—4, 6—8, 10—12, 15—20 Å 

 ���. 4. �&����0 ����&�� &��������� $�%�" 
��"$� $����"��$� =�# ��'��� ��'��/��8� 
   &��������� $�%�" ��$� D2(t) = �[rik(t)]2�R 0. 
N = 3456, T = 310 K. R0 = 2—4, 6—8, 10—12, 15— 

20 Å (���#" ���&�) 

������
�� 3�
���� 
	 ������� �����
	� 

��$� =��� ������&"�&����� =��/?�� ����'����� ��"�'����'��� ��&&���(������ !"��-
(�0, ������&�� �# ����&�� $� )&�������$ � �����0 &�=���. �)&�������� !"��(�0 ="�"� )&�-
�����/�� )� $�&� �� &���$��&���� � ��)��/#������$ ����"*+�� �=�#��'���0: ri(t) — &���"�-
�����& $����"�� i � $�$��� �&�$��� t; ri(t) — ����� ���8� �����&�; rik(t) = rk(t) – ri(t) — �����&, 
�������*+�0 � $�$��� t $����"�" i � $����"��0 k; "8����� ���=�� �…�R0 �#��'�*� "�&������� 
)� ���$ $����"��$ ��� �� )�&�$ �����/�� ��� ��%��8� ���)�#��� ��'��/��� &��������0 R0. 
I���� )��&�=�� ��� !"��(�� � ���#� $�%�" ��$� �)����� � 9&���%����. 

��'��$ ��?� &���$��&���� � ��&�?� �#������0 ����'����'��0 !"��(�� — #�����$���� 
�� �&�$��� �&����8� ����&��� �$�+���� '����( R2(t) � �[ri(t) – ri(0)]2�, )���#����0 �� &��. 2.  
��8����� &��. 2, %, !"��(�� R2(t) �$��� '����0 �#��$ )&� t � 0,5 )�; �8� �"%�� )&���$��/ �� 
���$���� )&� �����#� ��"�'����'��� ��&&���(������ !"��(�0 �� $���� �&�$����. ������, 
��� ����� �# &��. 2, �, �� ��!!"#����"* ���$)���" !"��(�� R2(t) ������� ���/�� )&� t > 5 )�.  
> $����� ��"'�0��8� =�"%����� !"��(�� R2(t) )&���������� ��=�0 )&�$"* ����* =�# ������ 
�#��$��. 

�� ����'����'�"* !"��(�* R2(t) ���=���� )���%� ��"�'����'��� !"��(�� V2(t) = 
= �[rik(t) – rik(0)]2�R0 — ����&�� �#$������ �����&�, �������*+�8� )�&" $����"� i � k, #� �&�$� 
��=�*����� (�$. &��. 3) � D2(t) = �[rik(t)]2�R 0 — ����&�� ����� ���8� �����&� � $�$��� �&�$��� t 
(�$. &��. 4). > $����� ��"'�0��8� =�"%����� !"��(�� V2(t) ��� ���� ��'��/��� &��������0 
$�%�" ��"$� $����"��$� R0 ���)���*�, )&�'�$ V2(t) = 2R2(t). > $����$ $��?��=� ��%���� 
(�$. �&�#�" �� &��. 3), '�� ��� ��)�������� � ��� $����� ����. ������ � �&")��$ $��?��=� 
���������� �����, '�� ��� !"��(�� ��� &�#��� ��'��/��� &��������0 ���-���� ����'�*��� 
�&"8 �� �&"8�. >�'���� 2R2 �# V2 ��� �&�����/�"* ��������*+"*, �)&�����$ ���������� V2 
�� ��!!"#�����0 ���$)����. A�� ���������� �)&������� ��&&�����& DP(t), ����&�0 &���� ���-
��&��$" )&��#������* �����&�� �$�+���� $����"� )�&� �� �� )�&����'��/��8� )���%���� 
(�$. (95) � 9&���%����):  
 V2(t) � 2R2(t) – 2DP(t). (3) 
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���. 5. �&����0 ����&�� �#$������ &���������  
$�%�" $����"��$�, �=&�#"*+�$� )�&"  

�2(t) = �[rik(t) – rik(0)]2�R 0. 
N = 3456, T = 310 K. ��'��/��� &��������� $�%�" $���- 
    �"��$� R0 (���&�" ���#): 2—4, 6—8, 10—12, 15—20 Å 

 
(> ��&�8�$ &�������� �$���� 2R2(t) �"%�� )�-
���/ 2R2*(t), �$. (96) � 9&���%����; �� � ���-
��$ &���$��&���� )&� =��/?�� �&�$���� ��� 
&�#��'�� ���"+��������.) 

	���$ �=&�#�$, ����� !"��(�� V2(t) �� 
��!!"#�����0 &�%�$ )&� =��/?�� �&�$���� 
#������ �� )�������� ��&&�����&� DP(t). ��%� 
$� &���$��&�$ ���� ��&&�����& =���� )��&�=-
��, ��0'�� %� )&�����$ )���=��0 �����# ��� 

�&"8�� ��"�'����'��� !"��(�0. 
��&�������� ��&�%���� ��� ���� !"��(�0 � ���������� �# 
��� ��&&�����&�� ���� � 9&���%����, � �� �&�$���ó� )�������� &���$��&��� � ����"*+�$ 
&�#����.  

�&������� !�&$"�� ��� V2(t) � D2(t), ��8�� )���#��/, '�� D2(t) � ��'����� �&�����/��� 
��������*+�� ����&%�� �� ���/�� 2R2(t), �� ���%� � ����&�� ��'��/��8� &��������� $�%�" 
$����"��$�, �=�#��'����0 ��$� ��� L2 (�$. (92)). ��0�������/��, �# &��. 4 �����, '�� 2R2(t) + 
+ L2 ��������*� ������"* '���/ D2(t). 9���� ��'������ ���� '����� ���������� #�$���� �����, 
�����$�0 � D2(t) ��&&�����&�$ IDP: 
 D2(t) � 2R2(t) + L2 – 2IDP(t). (4) 
(B��� )&�=��%����8� &�������� �#��'���, '�� $�, ��� � � "&������� (3), )&���=&�8�� &�#��'�-
�$ R2(t) � R2*(t)). 
�&&�����& IDP(t) )&���������� ��=�0 �"$$" L2 � �����&��8� )&��#������� 
�����&��, ��)&�������� �# ��'��/��8� )���%���� ����0 $����"�� � ���"+�$" )���%���* 
�&"8�0 (�$. (910)): 

IDP(t) = �[rk(t) – ri(0)] 	[ri(t) – rk(0)]�R0 + L2. 
�� &��. 5 )���#��� !"��(�� C2(t), )&��������*+�� ��=�0 ����&�� �#$������ ����* �����-

&�, �������*+�8� )�&" $����"� i � k, #� �&�$� ��=�*�����. �$���� ��" !"��(�* )&����%�� 
����������/ �.9. ����$"% (�$. >�������). ���, =�#"������, ����'����� �� V2(t): ���� )�&� $�-
���"� �#$����� ���� �#��$��� &��)���%����, �� �� �#$������/ &��������� $�%�" ��$�, �� 
C2 = 0, ��8�� ��� V2 > 0. J"��(�* C2(t) ���%� $�%�� ��&�#��/ '�&�# R2(t), �� ���#/ $�%�" ��-
$� �+� =���� ���%��� (�$. 913):  
 C2(t) � 2R2(t) – 2[IDP(t) + Corr(t)]. (5) 
B���/ ������ ��&&�����& Corr(t), �)&��������0 ��� �&����� )&��#������� ���"+�8� � ��'��/��-
8� &��������0 $�%�" $����"��$� )�&� #� ��'���$ L2 (�$. 912):  

Corr(t) = �rik(t)rik(0)�R0 – L2. 
����0��� #�����$���/ !"��(�� R2(t) �� t �� =��/?�� �&�$���� �#��'���, '�� ��&&�����& Corr(t) 
)&� ����� �&�$���� )&�)�&(������� ����&����$" ��&�* �# t. 	���$ �=&�#�$, !"��(�� C2(t) �� 
=��/?�� �&�$���� �� �������� � ��!!"#�����0 ���$)���� �� � $������ ���� (�$. &��. 5), ��  
� $����� ��"'�0��8� =�"%����� ��'��.  

9&��������� &��"��� )���#���*�, '�� ��� �&� &���$��&����� #���/ !"��(�� V2(t), D2(t) 
� C2(t) )&� t = 5000 )� (� ��%� )&� 8000 )�) ��� � �� ��?�� �� ��!!"#����"* ����'����'�"* 
���$)�����" 2R2(t). ���������� �� ���0 ���$)������ �)�����*��� ��������$� ��?� ��&&���-
��&�$�. ����$��&�$ �&�$����� )�������� ���� ��&&�����&��. 

��''#�56�'- DP, CC, IDP, ICC. ���������� !"��(�� V2(t) �� ��!!"#�����0 ���$)���� 
�)��������� ��&&�����&�$ DP(t): 

DP(t) = �[ri(t) – ri(0)] 	[rk(t) – rk(0)]�R0 = ��ri 	�rk�R0. 
 

 



������ �	��
	����� 
����. 2013. 	. 54, 9�����H��H Z 2 S245

 
 

A�� �&����� �����&��� )&��#������� �����&�� �$�+���� ��"� '����( � ��=&����0 )�&� 
(�$. &��. 1). ��&$�&"� �����&�, )��"'�$ ���!!�(���� ��&&���(��  
 ��(t) = �[�ri 	�rk] / [|�ri| 	 |�rk|]�R 0 = �cos��R 0, (6) 
�.�. �&����0 �����"� "8�� $�%�" �����&�$� �$�+���0 ��"� $����"� ��?�0 )�&�. >&�$����� 
����*(�� DP(t) � ��(t) �� ����&���� 5000 )� )���#��� �� &��. 6. 

�� ����$, '�� ��&&�����& DP(t) ���*�/ �� ��&�$���� � �"�* — �� ������� �� )����, ��-
���� ����&�8� ��$ $��/?�, '�$ =��/?� ��'��/��� &��������� $�%�" $����"��$�. ���������-
�"*+�0 �$" ���!!�(���� ��&&���(�� ��(t) )&� $���� �&�$���� =���&� )�����, ������ �� 
�&�$���� � ������/�� ����� )������"�� ��� )������ �"+�������� #�$�������� (�� ����&���� �� 
3 �� 5 �� �� �)��������� ���)������0 � ��&����&��$ �&�$���$ 4 �� �� &��. 6, � � 2,8 )� �� 
&��. 6, �). 
�&&���(�� �+� #�$���� ��%� )&� t = 5000 )� — ���=���� � ���%���� )�& $����"�  
� ���$��/?�$ ��'��/��$ &���������$ 2—3 Å. 


�&&�����& IDP(t), �����+�0 � ������ !"��(�� D2(t) � �)������0 � !�&$"��� (98), (99) 
9&���%����, ����&%�� ��"�&� ��=� =���� )&���� �)&������$�0 ��&&�����& IDP*: 

IDP(t) = IDP*(t) + L2. 
 IDP*(t) = �[ri(t) – rk(0)] 	[rk(t) – ri(0)]�R 0. (97) 

�&&�����& IDP*(t) — ��� �&����� �����&��� )&��#������� �����&�� �$�+���� ��"� '����( �� 
��'��/��8� )���%���� ����0 � ���"+�$" )���%���* ������ (&��. 7). IDP(t), � ����'�� �� 
IDP*(t), )&� t = 0 �=&�+����� � �"�/, � )���$" =���� "��=��. A��$ ��&&�����&�$ ����������"�� 
���!!�(���� ��&&���(�� ICC(t) — �&����0 �����"� "8�� $�%�" &���$��&����$�$� �����&�$�. 
>&�$����� )�������� !"��(�0 IDP(t) � ICC(t) �� ����&���� 5000 )� )���#��� �� &��. 8.  


�&&�����& IDP(t) �'��/ )���% �� ��&&�����& DP(t) (�$. &��. 6) � ��%� ������� �� )����. 

��!!�(���� ��&&���(�� ICC(t), ��� � CC(t), �� �)�?�� �=&�+��/�� � �"�/. ������, ���� � ��  
 
 

 

���. 6. 
�&&�����& DP(t) (%) � �8� ���!!�(���� 
��&&���(�� ��(t) (�) ��� $����� N = 10000, T =
= 280 K. 
&���� (���&�" ���#) ����������"*� ��-
'��/��$" &��������* $�%�" )�&�0 $����"� R0 
� ����&����� 2—3, 4—5, 6—7, 9—10 Å. �� &��. (%) 
���#" )���#�� ��&&�����& ��� ��"'�0��8� =�"%-
�����. 
��!!�(���� ��&&���(�� ��� $����� 
N = 50 000, T = 310 K. R0 (���&�" ���#) 2—3, 
5,75—6,25, 9,9—10,1, 14,95—15,05, 19,96—20,04, 
29,99—30,02 Å. 9"����& — ���)������ �� �&�$�-
                     ��$ #��"����� 2800 )� (�) 
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���. 7. 
 �)&�������* ��&&�����&� IDP* 

 
$�������� ���8� "$��/?����/ ���&&���&��������/ �#��'��/-
�� ���=���� =��#��� '����(, �� � ICC ��&&���(�� ���&�����-
�� ���=���� ���8� ��� ��$�� =��/?�� ��'��/��� &��������0 
(#���/ 9—10 Å). �� =��/?�� �&�$���� ICC(t) < 0 )&� =��/-
?�� R0 � �������� )���%����/��$ )&� R0 < 6 Å. 

��� �)&�������� ������� ��&&���(�� ���%���� '����( 
�� �)������� #���/ !"��(�� $� �&�������� �� !�&$" � $�-

����� ���� � ��"'�0��8� =�"%����� '����(. 
�� ���#����/, 8&�!��� �������� !"��(�0 C2(t), 
D2(t), V2(t) � ���� $������ ��#"��/�� �'��/ )���%� � &�#��'�� $�%�" ��$� �&"��� "����$�. 
>���� ���/��, '�� !"��(�� C2 �� �$��� )�&���'���0 ����0 ��� &�#��� &��������0 $�%�" $�-
���"��$� )&� $���� �&�$����, ��� ��� �$��� $���� ��� ���� (�$. &��. 16). 	��/�� )���� ��'�-
����� �# !"��(�0 �&�����/��� ��!!"#������ ��������*+��, �.�. )���� )�&����� � �������-
��$ ��$� ��&&�����&�$, &�#��'�� ���������� ��'������ �����. 	��, #��'���� ��&&�����&�� 
DP(t) (�$. &��. 6, %), IDP(t) � CC(t) � $����� ��"'�0��8� =�"%����� �������*��� �� �"�� �� =�-
��� '�$ �� �?�=�" "�&�������. 
��!!�(���� ��&&���(�� I��(t) )&� ���� R0 ��&�(������ � �� 
�$��� $����$"$�� )&� t < 200 )�, ����&�� =��� � I��(t) ���� (�$. &��. 8). 9�������� ������-
&�� �&"8�� ��&&�����&�� ���%� ����'����� (�$. ��%�).  

	���$ �=&�#�$, �&������� ���� � $����/* ��"'�0��8� =�"%����� � ����$�������/* )���-
#�����, '�� ���=�'��� )�������� ��&&�����&�� DP(t) � IDP(t) (� ������&�� �&"8��) � ���� ��-
������ ���������$ ���&&���&������8� ���%���� $����"�. 

���5!�# 6#78#'"6('-. �����'���� ��$)�&��"&� ���%�� )&������/ � ����=����* ��&&�-
��(�0. ��0�������/��, �� ��&����� ��� ���!!�(����� ��&&���(�� ��(t) (&��. 9, %) $� ����$, 
'�� � &����$ ��$)�&��"&� "$��/?����� ���)��/ ��&&���(�� � "����'������� ���&���/ "=���-
��� ��&&���(�0. B�����$���/ �� ��$)�&��"&� ��&&�����&� DP(t) ���#������� #��'����/�� 
���%���. B���/ �"%�� �$��/ � ���", '�� )&� ������� ��$)�&��"&�� "����'���*��� ��"'�0��� 
!�"��"�(��, ��� )��������� ����&�� �"%�� )&������/ "�&������� )� =��/?�$" '���" ���!�-
8"&�(�0, '�$ )&� ��#��� ��$)�&��"&��. 	�)�'��0 )&�$�& ?"$�� )&� T = 490 K )���#�� �� 
&��. 9, �. ���������� �&���0 )&� t = 2500 )� ��� ��'��/��8� &��������� 3—4 Å ���/ &�#"�/��� 
����� !�"��"�(�0, ����&�� ="�"� �8��%����/�� )&� ���/��0?�$ "�&�������. 9&� $���� �&�-
$���� &�#=&�� #��'���0 $��/?�, � $� �$��$ 8������ �&���� ��� DP(t) ��%� )&� 700 K ()���-
����/ ��#�� 1 8/�$3) — �$. &��. 9, � � �. A�� &��"��� )���#���*�, '�� )&� ���� ��$)�&��"&�� 
�)���/ �� 700 K ���&������� )����. >����� )���� �� �'��/ ���/�� #������ �� ��$)�&��"&�, �� 
��$)�&��"&�0 ����&���&"���� �&�$� ������ �� )����. A��� �!!��� $� ="��$ �=�"%���/ ���/?�. 

 

 
 

���. 8. 
�&&�����& IDP(t) � ���!!�(���� ��&&���(�� ICC(t). 
�����/ � �=�#��'���� �&���� ����� %�, ��� �� &��. 6, % 
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���. 9. >������ ��$)�&��"&� �� )�������� ��&&�����&�� ��(t) � DP(t). 
N = 3456. �����: '�&��� — 250 K, ����� — 280 K, �&����� — 310 K. R0 = 6,3—6,7 Å (%); N = 10 000, T = 490 K. ��-
��� ����������"*� ��'��/��$ &���������$ $�%�" $����"��$� R0: 2—3, 3—4, 4—5, 5—6, 7—8, 9—10 Å (���&�" 
���#, )&� $���� t) (� ); N = 10 000. 	�'�� 280 K, ����� 490 K, )"����& 700 K. R0 (���&�" ���#): 2—3, 4—5, 7—8, 9—
10 Å. >�&�����/��� ����� )&������� ��: 70 )� (700 K) � 103 (490 K) (�); N = 3456. �����: '�&��� — 250 K, ����� — 
280 K, �&����� — 310 K. >�&���� �&�0�� �&���� — R0 = 2,7—3,3 Å, �&����� — R0 = 6,3—6, Å, ��%��� — R0 = 
                        = 14,9—15,1 Å. >�&�����/��� ����� ��: 1350 )� (250 K), 522 )� (280 K), 261 )� (310 K) (�) 

 
��''#�56�' DP(t). �"<7#'!-# =>>#$6-. 
�� $� "%� ")�$�����, ��8����� ���&�� J�?�-

&� ��8&��%��� '����(� (�����(� �����������8� ���%����) � ���� �$��� &���"� 20 Å � #���*'�-
�� � ��=� 1100 $����"� ()&� 0 
C). A�� �#��'���, '�� &�#"�/���� &��'���� ���%�� �"+�������� 
#������/ �� &�#$�&� ��$)/*��&��0 $�����, ���� �� �&����$ � ���$� ����'���$�. ����$��&�$ 
&�#$�&��� �!!���� �� )&�$�&� ��&&�����&� DP(t). 

�� &��. 9, �, � � 10 )���#��� )�������� !"��(�0 DP(t) ��� $�����0 &�#��8� &�#$�&� )&� 
&�#��� ��$)�&��"&��, � � ��=��(� �"$$�&����� �� ��&����&��� ���=�������. �� &��. 10 )���-
#��� �&���� DP(t) ���%� � )&� =��/?�� )�&����'��/��� &���������� $�%�" $����"��$�, )&�-
��?�*+�$� )������" &�=&� )�&����'����8� =���� %/2. �� ����$, '�� )&� ���� ��'��/��� 
&���������� R0 �&���� ������� �� )����, )&�'�$ �����&�$���� )&� ���� R0. 
�� )���#���*� 
)�'�� ��� &��"���, $�$��� ������ �� )���� �)&��������� �&�$���$, #� ����&�� $����"�� )&�-
����� � )&�(���� ��!!"#�����8� ���%���� )������" =����: ta /2 = (a/2)2/6D. A�� �&�$� )���#��� 
�� &��"���� ��&�����/��0 �����0. 
��!!�(���� ��$���!!"#�� D, ���=����$�0 ��� �8� &��-
'���, �)&������� ��� ��%��0 $����� �# ������� #�����$���� �&��������&���'��8� �$�+���� 
$����"� R2 �� �&�$��� (�$. ��=��("). H����������$ ����*'����$ �������� ���=��/?�� �# )�-
��&������ ��$� $�����0 �# 50 000 '����(. > ��0 ����� �&���� DP �� )���� )&�������� #��'�-
���/�� &��/?�, '�$ ta /2 (�$. &��. 10, �). � &����$ ��'��/��8� &��������� R0 ������ )���� $���- 
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���. 10. >������ &�#$�&� $����� �� )�������� !"��(�� DP(t). 
N = 3456, T = 310 K. R0: 2—4, 4—6, 6—8, 8—10, 12—14, 18—20, 20—22 Å (a); N = 10 000, T = 280 K. R0: 2—4, 4—6, 
8—10, 14,5—15,5, 19,7—20,3, 29,9—30,1, 34,1—35,1, 39,9—40,1 Å (� ); N = 10 240, T = 310 K. R0: 2—4, 8—10, 14,5—
15,5, 29,9—30,1, 34,9—35,1, 53—55 Å (�); N = 50 000, T = 310 K, R0: 2—3, 4—5, 7,8—8,2, 14,95—15,05, 29,98—30,02, 
54,99—55,01, 69,99—70,01, 89,99—90,01 Å. >�&�����/��� ����� )���#���*� )���%���� �&�$��� )&���%����� $�- 
                                                          ���"��0 )������� &�=&� =���� ta/2 (�$. ��=��(") (�) 

 
+%�%��
������� ����
�����% DP(t) 

T, K N 9����(��� D 	105, �$2/� DPm tc, )� ta/2, )� Rc, Å a/2, Å R0c, Å 

250 3456 �9 0,68 14 �800 1350 18 23,5 20 
280 3456 

10000 
�9 

TIP4P 
1,76 
2,48 

15 
28 

�400 
�500 

  523 
  752 

20,6 
27,3 

23,5 
33,44 

21 
30 

310 3456 
10240 
50000 

�9 
�9 

TIP4P 

3,52 
3,84 
3,39 

16 
27 
44 

�200 
�400 
�600 

  261 
  495 
1610 

20,6 
30 
34,9 

23,5 
33,74 
57,23 

21 
30 
55 

490 10000 TIP4P 18,2 27 �100   103 33 33,44  
700 10000 TIP4P 26,8 24 �70     70 33,5 33,44  

 
 

 

D — ���!!�(���� ��$���!!"#��. 
DPm — ������ )���� � DP(t) ��� R0 = 2—4 Å. 
tc — �&�$� ������ ��&&�����&� DP(t) �� )����. 
ta/2 = (a/2)2/6D — �&�$� )&���%����� $����"��0 &���������, &����8� )������� &�=&� �"=�.  
Rc = (6Dtc)1/2 — �&����� &���������, )&�����$�� $����"��$� )&� ������ �� )����. 
a/2 — )������� ����� &�=&� $����/��8� �"=�. 
R0c — #��'���� ��'��/��8� &��������� $�%�" $����"��$� R0, ��8�� DP(t) ���������� < 0. 
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����� )���%�����, $���� #���, ��8�� R0 ���������� '"�/ $��/?� )������� ����� &�=&� =���� 
a/2 (�&���� ��� )�������� ����=(� ��=��(�), )&�'�$ �� ���� &�# � ���=��/?�� $����/ �� ����-
'����� �� �����/���. (��#"$�����, �#$������ #���� ���!!�(����� ��&&���(�� ��(t) )&�����-
��� �����&�$���� � �#$������$ #���� DP(t).) 

�# ��=��(� �����, '�� ���!!�(���� ��$���!!"#�� D � $������ #������ ��� �� )����(��-
��, ��� � �� '���� '����(. 9�&��� ��&�?� �#������ (�$., ��)&�$�&, [ 19, 20 ]), ���&�� ��=�*���� 
� [ 19, 21 ], 8��, ��� � " ���, D &�� � &����$ N. 

��''#�56�' CAV(t). 9� $�&� "������� '����(� �� )�&����'��/��8� )���%����, �� ���/-
��0?�� )�&�$�+���� ��� ���=�� ������ �� �=+�0 �����& �� �$�+����. � )���$" �����"� "8�� 
$�%�" �����&�$� �$�+���� ��"� $����"� )&� "����'���� �&�$��� ���%���� �#$������� ��� 
���=�� � )�&������ ��&�%��/ ���)��/ ���&&���&��������� ���%���� $����"� � �����0 $�$��� 
�&�$���. C��=� "��&����/ ���� �!!���, ="��$ &���'������/ �����"� "8�� $�%�" �����&�$� 
�$�+���0 �� #� )����� �&�$�, )&�?��?�� �� ��'��/��8� $�$���� t = 0, � #� ����&��� �&�$���, 
������+�0 �� –�t/2 � +�t/2 �� ���"+�8� $�$���� �&�$��� t �� �&�����&��. ���'� 8���&�, ="��$ 
&���$��&����/ �����"� "8�� $�%�" �����&�$� �&����� ���&����0 ��"� $����"� #� ����&��� �t  
� &���$��&����$�0 $�$��� �&�$��� t. ��&�������0 )� ���$ )�&�$ $����"� � "'���$ ��=&��-
��� ���)�#���� )�&����'��/��8� &��������� $�%�" ��$� R0, ���� ��&&�����& $� ="��$ �=�-
#��'��/ CAV(t). 9&�$�&� )�������� ��&&�����&� CAV(t) )&� �t = 2 )� )&������� �� &��. 11.  

���"��� ��$����&�&"*� ����&����� ���=������� ��&&�����&� CAV(t). 
1) ��&&�����& CAV(t), ��� � ��������� �%����/, "=����� �� �&�$���$ #��'����/�� =���&��, 

'�$ ���!!�(���� ��&&���(�� ��(t). ������ ��%� �� �� �&�$���� � ������/�� ��� )������"�� 
�+� #�$���� ����'����� �� �"��; 

2) �� �&�$���� )�&���� 400—500 )� )&� ���� ��'��/��� &���������� R0 ��&&�����& CAV(t) 
������� �� ���" � �" %� ���)����(���/�"* ���$)���" � ��&����&��$ �&�$���$ 380 )� 
(�$. &��. 11, � — $����/ � N = 50 000, T = 310 K; ��� $����� N = 10 000, T = 280 K ��� �&�$� 
���������� 210 )�);  

 

���. 11. 
�&&�����& CAV(t). 
N = 10 000, � = 280 K. R0 (���&�" ���#): 2—4, 4—6, 
8—10, 14,5—15,5, 19,7—20,3, 24,8—25,2, 29,9—30,1, 
34,1—35,1, 39,9—40,1, 53—55 Å (%); N = 50 000, � =
= 310 K. R0 (���&�" ���#): 2—3, 7,8—8,2, 9,9—10,1, 
14,95—15,05, 19,96—20,04, 29,98—30,02. G�&���-
��� — ���)������ � �&�$���$ 380 )� (� ); N = 50 000, 
         � = 310 K. 9&�$�� �����: 0,5exp(–R0/4) (�) 
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3) �� $���� �&�$���� �&���� CAV(t) ���/�� ����'�*��� ��� &�#��� R0. ��'��/��� ��&&�-
��(�� CAV(0) =���&� )����� � &����$ R0, ��������/ ��&�(����/��0 )&� =��/?�� R0 ()&� 
R0 > 34 Å ��� N = 50 000 � )&� R0 > 22 Å ��� N = 10 000). H��� )&� $���� R0 ��&&�����& CAV(t) 
"=����� $�������� �� �&�$���$, ��, ��'���� � R0 � 9—10 Å, �� )&������ '�&�# $����$"$ 
(�$. &��. 11, % � �), ����&�0 &��)���%�� ��$ )�#%�, '�$ =��/?� ��'��/��� &���������. ��� 
���=��/?�� &��������0, ��'���*+���� � &��������� '"�/ $��/?� )������� &�=&� =����, ��&-
&�����& ���/�� &�����, ��������/ ��&�(����/��$;  

4) #�����$���/ �� R0 ��'��/��8� #��'���� ��&&�����&� CAV(0), )��� ��� )���%����/��, 
��&�?� �)��������� ���)������0 exp(–R0/RC) � RC � 4 Å (�$. &��. 11, �). 

�&/(?@#!�# '#<(�A6"6�%. 9�&��0 �����, ����&�0 $� ���%�� ������/ �# )&��������8� 
������������ ��"�'����'��� ��&&���(������ !"��(�0 V2(t), D2(t), C2(t), #���*'�����  
� ��$, '�� �� =��/?�� �&�$���� ��� �� �)�����*��� ��!!"#�����0 ����'����'��0 ���$)��-
����0, #������$�0 !"��(��0 R2(t). >�)&��� �%������$ )&� )�&����'��/��0 )��������� #���'� 
��� �� ������� �� ��!!"#�����0 )&���� ��%� �� �&�$���� 5—8 ��. ���������� ���� !"��(�0 
�� ��!!"#�����0 ���$)������ �)&��������� ��&&�����&�$� (�$���� )&�=��%����� "&������0 
(3), (4) � (5) )�?�$ ��)�&/ ��'���): 
 V2(t) = 2R2*(t) – 2DP(t), (96) 
 D2(t) = 2R2*(t) + L2 – 2IDP(t), (98) 
 C2(t) = 2R2*(t) – 2[IDP(t) + Corr(t)]. (913) 

�� ���������/, ��� ��&&�����&� #�$���� ����'�*��� �� �"�� �� )&���%���� ���8� �&�$��� 
$�����&������. 	���$ �=&�#�$, &���$��&����� ��$� ��"�'����'��� !"��(�� ��������/���"*� 
� �"+���������� � $������ ���� ���8��&�$����� ��&&���(�0. 

�����/��� ������������ ��&&�����&� DP(t) �������� �8� ���&�����/��� ���0����. 9� ���-
�$" �)&�������* �� ���/ �&����� �����&��� )&��#������� �����&�� �$�+���� '����( � ��-
=&����0 )�&� (95), 

DP(t) = �[ri(t) – ri(0)] 	[rk(t) – rk(0)]�R 0 � ��ri 	�rk�R 0. 
>���� )�&� $����"� i � k � ����'��" DP(t) &���� )&��#������* ���� �� �����&�� �$�+���� �ri 
� �rk � �����"�� "8�� $�%�" ��$�. � "����'����$ �&�$��� �&����� ����� �����&�� �$�+���0 
&�����, '�� � �=X������ )�&����'��/��0 &��� DP(t). �� &��. 6, 8—10 )���#���*�, '�� ��&&���-
��& DP(t) =���&� ������� �� )����, ����&�� ������ �� )��� (� =����) �������"��! A��� "����-
���/��0 !��� ��������/���"�� � ��$, '�� ��'���� � ������&�8� $�$���� �&�$��� tc �����"� "8-
�� $�%�" �����&�$� �$�+���� ����� ��=� ����&?���� �����'����, ��� '�� ������ )���� )���-
#����� ���)��/ ��&&���(��, ����&�� =��� �����8�"�� )&� t < tc. I���� ���� ��� )������� &���"-
%�����, )&������%�+�� ��?�$" �����8� �.>. ���������.  

9&��)���%�$, '�� �$�+���� ��"� $����"� i � k )������/* ���&&���&����� �� ����&���� 
�&�$��� (0, t�), � #���$ ��&&���(�� �$�+���0 )������/* ��'�#���. 	�8�� $�%�� #�)����/: 
�ri = Xi(t) )&� t � tc � �ri = c

iX  + xi )&� t > tc (#���/ =��/?�� ="��� �=�#��'��� ���&&���&�����"* 
'���/ �����&�, � $���� — �����&&���&�����"*, )&�'�$ c

iX  = Xi(tc)). 9����$" )&� t < tc ����� 
�����0 )�&� $����"� � ��&&�����& DP(t) ���������� DPik(t) = �Xi(t) 	Xk(t)�. �� �&�$���� t > t� 
����� &����  

DPik(t) = �( c
iX  + xi) 	( c

kX  + xk)� = � c
iX 	 c

kX  + Xixk + Xkxi + xixk�. 
�� �&� )�������� ���8��$�� ���%�� �=&�+��/�� � �"�/ �#-#� �����&&���&��������� �$�+�-
��0, )����$" DPik(t) = c

iX 	 c
kX  = const. 	���$ �=&�#�$, )�&(���/��0 ��&&�����& DPik(t) ��=�&��� 

���� #��'���� ���/�� �� �&�$� ���&&���&������8� ���%���� $����"� �����0 )�&�, � )���� )�-
��&� ��&&���(�� �������� ���#$����$. 9����0 ��&&�����& DP(t) )&���������� ��=�0 �&����� 
)� ���$ )�&�$ $����"�, ��%��� �# ����&�� ��&��� ���&&���&��������/ � &�#��� �&�$�, � )�-
���$" �� "�&�������0 !"��(�� $� �#��$�� �� ��=�*���$. >&�$�, )&� ����&�$ !"��(�� ��?�� 
�� )����, ����������"�� �&�$��� )���&� ��&&���(�� )�������0 )�&� $����"�, �.�. )&���������� 
)&����/��� �&�$� ���&&���&��������� ��� �$�+���� ���� )�& '����(. 
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A�� �&�$�, ��� $� ������ � &�#���� � &�#$�&��� �!!�����, ��� ���� $�����0, �&�$� ��$�0 
=��/?�0 �# 50 000 $����"�, )&����'���� ���)����� � �&�$���$ ta /2, #� ����&�� $����"�� � )&�-
(���� ��!!"#�����8� ���%���� )&������ )������" &�=&� �"=� a/2. 9�'�$" � &�#$�&��� �!-
!����� �&���'����$ �������� ����� )������� &�=&� �"=�? 	��"* #�����$���/ ���&&���&����-
����� ���%���� �� ��'��/��8� &��������� $�%�" $����"��$� $�%�� �=X�����/ )&��"������$ 
� $����� ���&�0, ���$��& ����&�� )&�=��#����/�� &���� )������� &�#$�&� �"=�. >��&/ 
=��/?�8� &�#$�&� � �����$� �� )�$������� — �8� )&�����)���%��� �&�� ="�"� ��&$�#��/ �&"8 
�&"8� '�&�# )�&����'����� 8&���(�. >�#$�%�� ���%�, '�� � �����$� ��� ���&������ $�$���� 
�$)"�/�� ���%�� �"+��������/ )� �&�0��0 $�&� ��� ����� ���&� � )�'�� )�&�����/��$� ���-
$� � � )&�����)���%��$ ��)&�������$ �&�+����, '�� ���%� ����������� �8&���'���� �� &�#-
$�& ���&�. H��� ���&/ �������� ��=�������$ ���0����$ �����������8� ���%���� (�8� $�%�� 
=��� =� ��#���/ ��8�� ���&"��"&��$ ���&�$�), �8� ���$��& (� �&"8�� ��&����&������) �� 
���%�� #������/ �� &�#$�&� $�����, ��8�� �� )&���?��� $��?��= ���&�. � )&��"������ � ���-
��$� ����� ���&�0 ��������/�������� =� )�������� ������&&���(�� (��&�(����/��� #��'���0 
DP) �� &����������, #�$���� $��/?�� )������� =����, ��� ���� =� ��$��������0 #�����$�-
��� ������ )���� �� DP �� ��'��/��8� &���������. 9�����/�" � ��?�� $������ $� ����� ���-
�����/��� �� �=��&"%���, ���&"��"&��� ���&�� (���� ��� �"+����"*�) ����%�*��� &�#$�&�$� 
=���� #� �'�� )�&����'����� 8&���'��� "�����0 � ��� �� ��������� �"%�� �+� =��/?�� $�-
����. >�#$�%��, '�� ����'�� $�$���� ������ �� )���� �� �&�$��� ta /2 � $����� �# 50 000 $���-
�"� (�$. &��. 10, �) )���#�����, '�� &�#$�&� ���0 $����� "%� =��#�� � &�#$�&�$ ���&"��"&��� 
���&�0�.  

����'�� ���&"��"&��� ���&�0� )�#������ =� �=X�����/ �����������$ �=&�#�$, )�'�$" 
DP(t) ���������� ��&�(����/��$, ��8�� R0 )&�=��%����� � a/2 (�$. &��. 10). >)&�'�$, ���� �!-
!��� $�%�� �=X�����/ � =�# )&����'���� ���� ���&�0. ����$��&�$ ������&"* $����/�"* ���-
��$", � ����&�0 ���%���� =��%�0?�� $����"� ���&&���&����� ����$ �=&�#�$, '�� ���)��/ 
���0 ���&&���&��������� $�������� "$��/?����� � &���������$, ��������/ ���8�� )���%�-
���/��0. H��� � ����0 �����$� ��=&��/ ������&"* $����"�" � ��)&����/ ��/ x ����/ �����&� �� 
���&����, �� )���%����/��� ���&&���&��������/ ��� �*=�8� &��������� �#��'���, '�� �&����� 
���&���/ $����"� �� �����$ &��������� ="��� �$��/ )���%����/�"* )&���(�* �� ��/ x. � #��-
'��, ���&���/ (���&� $��� �����0 �����$� � (���$ �� ="��� &���� �"�*. C��=� )����0 �$-
)"�/� �����$� =�� &���� �"�*, ��$ )&������ ��'���/ �# ���� ���&����0 �� $����"� ��" ���-
&���/ (���&� $���. 9&� ���$ ���$��/?�� �&����� ���&���/, ����&�0 �=����*� ���=���� ����-
��� ������, �#$���� #��� ����0 )&���(�� �� ��/ x — )������� ��&�(����/��� ���&&���&����-
����/ � (���&��/��0 $����"��0. > �����$� � �"����0 ���&���/* (���&� $��� ������ �� $����-
$��/�� ��#$�%��� &���������� ���	�* �$��/ ��&�(����/�"* ���&&���&��������/ ���%����, 
'��=� ���$)����&����/ )���%����/�"* ���&&���&��������/ =��%�0?�� $����"�.  

�# ���8� ���#����8� ����"��, '�� �$��� #���� ��&&�����&� DP )&� ��'��/��$ &��������� 
$�%�" $����"��$� R0, =��/?�$ ����� )������� &�=&� =����, ���*�/ �� ��������/���"��  
� �"+���������� ������������ ���%���0 � ���� � ���� �&")��$��?��=��� ���&�0. ��� ����-
����� ����� ���&�0 �"%�� �&"8�� $�����. B�$���$, '�� ��#$�%����/ �"+���������� ���&�0 �� 
$����"��&��$ "&���� )&����'���� �� ����������� $�����$ $����"��&��0 ����$���. ��$ �#-
������ ���/�� ������/�� &�=��. > &�=���� [ 22, 23 ] ���&���� ���%���� $����"� %������� ��-
=�*���� � ��"$�&��� �����$�� ���&��� ������ (��� �=��8'���� ��#"���#�(�� )��� ���&����0). 
> &�=���� [ 24, 25 ] ���&���� ��&"��"&� )��� �����&�� �&�����(�0 ��=�*���� "%� � �&��$�&-
��� ������ �����$��. ���$��& ���&�0 ��������� �10 Å � ��&"��"&� ���&������/ � ��'���� 
300 )�; � ��%�����*, $����� =��� �'��/ $���, ���8� �# 1000 $����"�. �� ��� &�=���, ����'��, 
�� )�#����*� ������/ ����� � ��$, '�� ���&���� ���%���� ����*��� ��)�'��$ )&��������$ 
������������ ���%���0 � %�������. 

���/��0?"* ��!�&$�(�* $�%�� )��"'��/ �# )�������� ��&&�����&� CAV(t). �� ������ 
(��&. S249), '�� ��'��/��� ��&&���(�� $�%�" ��)&�������$� �����&�� ���&����0 ��=&����0 
)�&� $����"� (�.�. CAV(0)) =���&� "=����� � &����$ ��'��/��8� &��������� $�%�" $����"��$�  
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���. 12. 
�&&�����& DP(t), ��&$�&������0 � ���������0  
                          �$)���"�� )&� t = 1000 )�. 
N = 50 000, T = 310 K. R0 = 2—3, 8, 10, 15, 20, 30, 40 Å (���&�" 
                                                   ���#) 

 
R0. A�� )���#�����, '�� ���&���/ �����%���� )&�-
���/��0 ��&&���(�� ()���� � ��&&�����&� DP) 
"$��/?����� )&� &���� R0, '�� ��&�?� �����, ���� 
)���&���/ 8&�!��� ���������/��� ��&&�����&�� 
(&��. 12). 	�$ �� $���� DP(t) ��� ���� R0 �����&�-
$���� ������� �� )���� )&� tc � 700—800 )� 
(�$. &��. 12), '�� � ��$����&�&"�� �"+���������� 

)&����/��8� �&�$��� ���&&���&��������� ��� �$�+���� ���� )�& '����(.  
	�� !���, '�� )&� R0 > 9—10 Å ��&&�����& CAV(t) )&������ '�&�# $����$"$ (�$. &��. 11,  

%, �), � ����$�������/* )���#�����, '�� ������&�� '����(�, )�&����'��/�� �������, '�&�# ��-
����&�� �&�$� � &�#"�/���� ��!!"#�����8� ���%���� ���#���*��� =��%� �&"8 � �&"8", ��$ ��-
$�$ "����'�� ��=������"* � �&���** ���&&���&��������/ ����0 8&"))� '����(. �"%�� �"-
$��/, '�� &��������� 9—10 Å ���/ 8&���(�, �=��#� ����&�0 )�&����'��/��� ��&&���(�� �$�+�-
��0 $����"� ������/�� $���, '�� �� )�&���'���� � =��/?�0 ��&�������/* )&������ � "����'�-
��* ���&&���&���������, )"��/ ��%� �� ��&����� �&�$�. 
� �&�$���, ����&�� $� ��#���� )&�-
���/��$ �&�$���$ ��&&���(�� )�& $����"�, ��'�#��� ��� ��'��/��� ���&&���&��������/, ���  
� ")�$��"��� #���/ ��)�������/���, )&��=&������� �)"��� ������&�� �&�$�.  

B�$���$, '�� ��������� ��$� )&����������� � )&����/��$ �&�$��� ��&&���(�� �� ����"�� 
)���$��/ ���?��$ ="����/��. ��� �)������� ��'�#������� &�#��'�0 $�%�" )�&�$� '����(, 
������+�� �&"8 �� �&"8� �� ����� )������� &�=&� $����/��8� =����. �� ��� ���������� '��-
��(� ="�"� &�#=�8��/�� �� �&�$���$ �# )��"=���� )� ���0 =������'��0 �����$� )�&����'���� 
&��)���%����� �"=��, '�� � )&������ � ���/��0?�$" $�������$" "$��/?���* ��&&���(�0, 
����&�� $� ����$ � ���$)����� ��&&�����&� ��(t).  


� �&�$��� �400 )� ��� �&���� CAV(t) ��=�&�*��� �$���� � ����� "$��/?�*��� ���$����� 
)� ���)����(���/��$" #����" �� �&�$���$ #��"����� ����� 300 )� (�$. &��. 11, �). �'������,  
� ���$" �&�$��� ��!�&$�(�� � )�&����'��/��$ &�#=����� �� 8&"))� )&����'���� ��&�����  
� �������� �=+�� ����=����� ��&&���(�0 �� �&�$���$ &������(�� )�&���� ������/��� ��� )�-
�����"��. 

>��/$� )&�$�'����/�� ���)����(���/��� #�����$���/ CAV(0) �� R0 (�$. &��. 11, �), ����-
&�� )���#�����, '�� � ��?�� $������ ���� ���/ &���"� ��&&���(�� RC � 4 Å )�&���� &���"�� 
)�&��0 ���&����(�����0 �!�&�. 	���$ �=&�#�$, $� �$��$ ��&&���(�� �&�� )&���&���������� 
$��?��=��. 9�&��0 (�4 Å) ����������"�� ")������ =��%�0?�� $����"�, ���&�0 (�10 Å) — ���-
��������$ �!!����$, )���%�$ �� ��8&��%��" '����(", � �&���0 (�%/2) — �&")��$��?��=��$, 
��#$�%��, ���&���$ ���%����$. 

������ ����������
 


&�$� ��&&�����&�� DP(t) � CAV(t), )��&�=�� &���$��&����� ��?�, $� &���'����� $��8� 
�&"8�� ��&&�����&��, ������&�� �# ����&�� �&���� �)�?�$ #���/. 

��''#�56�' Corr_V(t). ��#����/ $�%�" ��&&�����&�$� DP(t) � IDP(t) �)&������� ����0 
��&&�����& Corr_V(t). 
�� )���#��� � 9&���%����, �$��� $���� &�������� 
 Corr_V(t) = � 0

ikr rik�R 0 – L2, (914) 
�.�. #� ��'���$ L2 ��&&�����& Corr_V(t) — ��� �&����� #��'���� �����&��8� )&��#������� ���-
��&�� rik(0) � rik(t). 9�������� ��&&�����&� Corr_V(t) )���#��� �� &��. 13. 9���=�� ��&&�����&" 
DP(t), �����0 ��&&�����& ���%� !�&$�&"�� "���0'���� )����, ������ ������ ���� )���� �"+�-
������� ��%�, � �&�$� ������ �"+�������� $��/?� — ���8� ��?/ ������/�� )������"��.  
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���. 13. 
�&&�����& Corr_V(t). 
�)&��� �� �&���� )���#��� ����������"*+�� �$ ���)�#��� ��'��/��� &��������0 R0 (%). B�����$���/ ������ )��-
�� )&� t = 30 )� � ��&&�����&�� Corr_V(t) � Corr_R(t) �� ��'��/��8� &��������� R0 � ��)���������� � &�����/��0  
                                                     !"��(��0 &��)&�������� ���� (�), N = 3456, T = 280 K 

 
� ����/, ��� � � DP(t), ������ ��%��8� )���� )&����'���� �� $������� � ��'���� ������/��� 
)�����"*+�� �������"��. 

�� )�&��0 �#8���, �&"��� "�����/ ���#/ $�%�" ������0 ���� )���� � #��'����$� R0, �$ 
����������"*+�$ (�$. &��. 13, %). ������ ���#�������, '�� #�����$���/ ������ )���� �� R0 
#�$�'����/��$ �=&�#�$ ��&&���&"�� � )�&��0 ��&&���(�����0 !"��(��0 $����"� g(R) � $���-
��. 
�� )���#����� &��. 13, �, )���%���� $����$"$�� #�����$���� Corr_V(t) )&� t = 30 )� �� R0 
��'�� ����������"*� "'�����$ ���=���� =���&�8� &���� g(R), � $���$"$�� — ���=���� =���-
&�8� �� )������. A�� $�%�� ����&)&���&����/ ����"*+�$ �=&�#�$: '����(� � R0, ���������-
�"*+�$ "'����" � &���"+�0 g(R), � =��%�0?�� �&�$�, ���&�� ���8�, &�#�0�"��� � )������ 
Corr_V(t), ��8�� ��� '����(� � R0 �� "'����� )������ g(R), ���&�� ���8�, �=��#����, '�$ "$��/-
?�� Corr_V(t).  

J�&$"�� (914) �)&�������� ��&&�����&� Corr_V(t) �'��/ )���%� )� ���" �� !�&$"�" 
(912) ��� ��&&�����&� Corr(t): Corr(t) = � 0

ikr rik�R 0 – L2. ������ �� )�������� �"+�������� ����-
'�����. >&�$���á� #�����$���/ ��&&�����&� Corr(t) �&�����/��: �� &����� �� �&�$���$ ��� ,t  
��8�� ��� Corr_V(t) � ��'���� �'��/ ��&����8� �&�$��� ��=�&��� ���� #��'����, ����&�� � ���/-
��0?�$ )&����'���� �� $�������. �=��&"%����� ��$� ���&�����/��� )���� ��=�*��*���  
" ��&&�����&��, �)&��������� '�&�# ��%�����
 (���"�
�
��
 �����&��; ��� ��&&�����&� DP(t), 
IDP(t), Corr_V(t). � ��&&�����&��, #�����+�� �� %����-��*� "�%�
��� �����&�� (C2(t), Corr(t)), 
����� )���� ���. �� ��? �#8���, ���� !��� ��&�%��� ��%��� ���0���� )������ %�������0:  
� ��!!"#������ )�&�$�+����� $����"� � ��� �"+�������"* &��/ �8&�*� �&�+����/��� ���-
%����. > �����&��� )&��#�������� �����&�� ��� ���%���� )&�����*���, ��8�� ��� � �=���*�-
��� #��'����� �����&�� — ���.  

> $����� ��"'�0��8� =�"%����� ��&&�����& Corr_V(t) ���/�� !�"��"�&"�� �=��#� �"��  
� �� !�&$�&"�� ������� "���0'���� #��'���0 (������� )���� ���).  

�$�''#��'�%"!!�/6A /7#D#!�E @%() 7��#$(� % 8�'#. H��� =� �=� $����"�� i � k � ��-
=&����0 )�&� �$�+����/ ��#�����$�, �� $�%�� =��� =� )����/: 
 �� 2

ir  + � 2
kr �R 0 = �� 2

ir � + �� 2
kr � = 2R2(t). (7) 

������ )&� )���'��� !"��(�0 V2(t), D2(t), C2(t), #�����+�� �� ���������/��� �$�+���0 )�&� 
$����"�, $� )&����%����$ ���%���� �� �����/��� $����"�, � ��"� $����"�, �������?����  
� ��'��/��0 $�$��� �� �)&��������$ &��������� R0��R, � "�&�����$ &�#"�/���� ���%���� 
���� ����� )�& $����"� � $�����. 9&� $���� R0 ���%���� $����"� � )�&� �)���� $�%�� ���-
#��/�� ���&&���&������$, � "&������� (7) ���%���� ����&��$. ��� "'��� ���8� �=�������/���� 
$� ����� ��&&�����& �$�+���0 $����"� � )�&� (�$. (94)):  
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���. 14. 
�&&�����& Corr_R, N = 3456, T = 280 K 
 

Corr_R(t) = �� 2
ir � + �� 2

kr � – �� 2
ir  + � 2

kr �R 0 = 2R2 – �� 2
ir  + � 2

kr �R 0. 
A��� ��&&�����& ������ � !�&$"�� ��� V2(t), D2(t), C2(t) (�$. 9&���%����). H8� '�������� 
#��'���� �"+�������� $��/?� #��'���0 ���� !"��(�0 �� =��/?�� �&�$����, ��� '�� �=�'�� 
�8� $�%�� �8��&�&����/. A�� )&������ � )&�=��%����$ !�&$"��$ (3), (4) � (5). ��� )�&����� 
� ��'��$ &��������$, � ��%��0 �# ��� �"%�� #�$����/ 2R2(t) �� 2R2*(t), 8�� 2R2*(t) = 2R2(t) – 
– Corr_R(t). > '��������, !�&$"�� (3) )&��=&����� ���  
 V2(t) = 2R2(t) – Corr_R(t) – 2DP(t). (96) 
���*�� ����"�� ������?���� 

Corr_R(t) = 2R2(t) – V2(t) – 2DP(t), 
����&�� $�%�� ��)��/#����/ ��� ��'������� ���8� ��&&�����&� � ���� ��$)/*��&��8� $���-
��&������.  


�&&�����& Corr_R(t) �$��� #��'���� )&�$�&�� ��8� %� )�&����, '�� � Corr_V(t), �� �� 
���/�� !�"��"�&"��. > &�#"�/���� $� $�%�$ ����%�� ���&����&�#����/ )�������� ��&&�����&� 
���/�� �� $���� �&�$���� (&��. 14, %), ��8�� ��� �� =��/?�� �&�$���� (�$. &��. 14, �) )&���-
�����8� ��$� "�&������� ���#����/ ���� ���������'��. 	�� %�, ��� � " ��&&�����&� Corr_V(t), 
�� �&�$���� � ������/�� )������"�� )&�������� !�&$�&������ "���0'���� )����, #�����-
$���/ ������ ����&�� �� R0 � #���/ ����� ���#��� � ����$ )�&��0 ��&&���(�����0 !"��(�� 
g(R) (�$. &��. 13, �). ������ ��)�&/ $���$"$� � $����$"$� ���0 #�����$���� ���)���*� � ��-
����$� " g(R). 

> $����� ��"'�0��8� =�"%����� � ��&&�����&� Corr_R(t) "���0'���� )���� ���, � �� !�"�-
�"�&"�� ���&"8 �"�� ��� )&� =��/?��, ��� � )&� $���� #��'����� t. 

������
�� 3�
���� 
	 �	�
� �����
	� 

> )�������� ������&�� ��"�'����'��� !"��(�0 �� $���� �&�$���� ��=�*��*��� �)�(�-
!�'����� ��&�8"��&�����. 9&����*��&�&"�$ �� ��� �� )&�$�&� !"��(�� C2(t). �� =��/?�� 
�&�$���� &��)���%���� �&���� ���������/�� �&"8 �&"8� &�8"��&��: '�$ $��/?� ��'��/��� 
&��������� $�%�" $����"��$� R0, ��$ ��?� &��)���%��� �&���� (�$. &��. 5). �� �'��/ $���� 
�&�$����, t > 7 )�, )�&���� �&���� ���#������� ��$��������$: ���#" &��)���%��� �&����, ��-
��������"*+�� &��������* R01, ��?� ���� �&���� � R03 � #���$ � R02 (�$. �&�#�" �� &��. 15, %). 
9&� t > 10 )� �&���� R01 � R02 ������*��� �� ���� �����/���, )�&�������/ )&� t = 16,2 )�. ��-
�������/��� )���%���� �����/��� �&���� ���%� �#$������� �� �&�$���$ ���%��$ �=&�#�$  
� ���/�� )&� t > 20 )� "�������������� &�8"��&��� &��)���%����, ���� ��� ����*��� �+� ���8�  
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���. 15. 9�������� !"��(�� �2(t) �� $���� �&�$����, N = 10 000, T = 280 K, !"��(�� &���'������� '�- 
                                                                                  &�# 0,1 )�. 
��'��/��� &��������� $�%�" $����"��$� R0: R01 = 2,15—3,15 ('�&��� �����), R02 = 3,15—4,15 (�&�����), R03 = 
= 4,15—5,15 (�����), R04 = 5,15—6,15 ()"&)"&���), R05 = 6,15—7,15 (#������), R06 = 7,15—8,15 (!���������), R07 = 
                                                     = 8,15—9,15 (�&��%����), R08 = 9,15—10,15 Å (8��"=��) 
 
���������$� �� )�&��� ��"�. �� ����*'���, '�� ��� �*=�)����� ��&�8"��&����� ��&�%�*� 
�"+���������� ��8&��%���� '����(. 

�����/��� ������������ � ��$������� )���=��� ��&�8"��&�����0 — ���� ="�"+�8�. 

F	���0�
�� 

9&��������� #���/ &�#"�/���� )���#���*�, '�� ��������� ��"�'����'��� ��&&���(���-
��� !"��(�� ����*��� "��'��$ $�����$ ������������ ������������ �!!����� ��!!"#�����-
8� ���%���� $����"�. �� ������, '�� ��&&���(������ !"��(�� V2(t), D2(t), C2(t) �� ������� 
�� ��!!"#�����0 )&���� ��%� �� �&�$���� 5—8 ��. � �&"8�� ��&&���(������ !"��(�0 (��-
#������ ��$� DP(t) � IDP(t)) ��=�*��*��� ���=������� �� �&�$���� � ������/�� ��� )�����-
�"��, � ���$)���� ������&�� ��&&�����&�� "=���*� � ��&����&��$� �&�$���$� � ����� 
(CAV(t)) � ��%� ����'� )������"�� (��(t)). >�� ��� �#��'���, '�� � $������ ���� �"+����"*� 
��&&���(�� � �$�+����� )�& $����"�, )&����&�*+���� �� ������� ��8��&�$ � ���+���� )� 
$��/?�0 $�&� ����� )������"��. 	���$ �=&�#�$, �=��&"%����� ������������ ���%���� � ��-
�� �$�*� �$�#����)�'������ $��?��=�, �.�. �� )�&���� )&���?�*� $�%$����"��&��� &��-
������� � ����'����'��� �&�$��� &������(��. >�#$�%��0 )&�'���0 ���� ��&&���(�0 �������� 
�"+���������� � %�������� ����
�*� ������������ ���%���0. ������ �)&��������� ����#�-
���/��� ���8� � ������+�� �&�$� " ��� ���. 

�=��&"%����� ��&&���(�� �&�� �� ���#��� � ����'��$ � ���� ����&����� ���#�0. ��� 
��&�%�*� �������� ���0���� ���� %�������0, ����&�� ����*��� (�=��#� �&�0��0 ��'��) )���-
��$� ��&�8"��&��$� ")������$� $����"�, � ����&�� ���"����"�� ���=����0 �=X�$, '�� ����-
�� ����#$�%��$ )�&�$�+���� �����/��� $����"�. ��0�������/��, )&����&����/��� &��'��� 
)���#���, '�� � %����$ �&8��� ��&&�����& DP(t) ����� ��=� ��� %�, ��� � � ���� (!�&$�&"�� 
)����).  

 
�� ���/$� =��8���&�� �.9. ����$"%" � �.>. ��������� #� )�������&��� �=�"%����� 

���0 &�=��� � (����� ����, � ���%� �����0���$" !���" !"���$�����/��� �����������0 #� 
!�������"* )����&%�" ()&����� 09-03-00419� � 12-03-00119�). 
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�� 
����������


� 3�
���� � ���F� ����� 
��� 

��!!"#�����0 ��&����& ���%���� $����"� ���=���� )&�$� )&��������� � ����'����'��0 
��&&���(�����0 !"��(��, )&��������*+�0 ��=�0 �&����0 ����&�� �$�+���� $����"� #� �&�$� 
��=�*����� t: 
 R2(t) � �[ri(t) – ri(0)]2� = ��ri(t)2�. (91) 
�������� #���'� �����8� )&���%���� ������� � ��������� � ��"�'����'��� ��&&���(������ 
!"��(��� ��!!"#�����0 ���$)����, ���#����0 � !"��(��0 R2(t), '�� )�#������ ������ )&�-
���� � "��=��� ��� ��)��/#������ ��"�'����'��� ��&&�����&�.  

9�������� ��"�'����'��� !"��(�0 #������ �� ��'��/��8� &��������� R0 $�%�" ��=&��-
��0 )�&�0 $����"�, ����&�� �� ��$�$ ���� )&���������� ��=�0 ������&�0 "#��0 ���)�#�� &��-
������0. ��� �)������ ���8� ���)�#��� ���#����/ "��=��$ ��)��/#����/ ��&����&�����" L2, 
&���"* �&����$" ����&��" ��'��/��� &��������0 $�%�" $����"��$� ���)�#��� R0: 
 L2 � �[rk(0) – ri(0)]2�R 0 = �[rik(0)]2�R 0. (92) 

1. 3(!$G�5 V2(t) — �&����0 ����&�� �#$������ �����&�, �������*+�8� )�&" $����"�  
� ���"+�0 � ��'��/��0 $�$��� �&�$���. 
V2(t) = �[rik(t) – rik(0)]2�R 0 = �{[rk(t) – ri(t)] – [rk(0) – ri(0)]}2�R 0 = �{[rk(t) – rk(0)] – [ri(t) – ri(0)]}2�R 0 = 

= �[rk(t) – rk(0)]2 + [ri(t) – ri(0)]2�R 0 – 2�[rk(t) – rk(0)] 	[ri(t) – ri(0)]�R 0. 
9�&��� �&����� �=�#��'�$ ��� 2R2*(t), )�����/�" � ���"������ ��&&���(�� ���%���� $����"� i 
� k ��� � ��'����� &���� ��!!"#�����0 ���$)���� 2R2(t)  
 2R2*(t) = �[ri(t) – ri(0)]2 + [rk(t) – rk(0)]2�R 0. (93) 
�&�������/�� ��=��/?"* &�#��(" $�%�" ��$� �)&�����$ ��� ��&&�����& Corr_R(t):  
 Corr_R(t) = 2R2(t) – 2R2*(t). (94) 
�����?���� '���/ "&������� ����&%�� �&����� �����&��� )&��#������� �����&�� �$�+���0 
$����"� ��%��0 )�&�, ��#������ ��$� ��&&�����&�$ DP(t):  
 DP(t) = �[rk(t) – rk(0)] 	[ri(t) – ri(0)]�R 0. (95) 
	���$ �=&�#�$, 
 V2(t) = 2R2*(t) – 2DP(t) = 2R2(t) – Corr_R(t) – 2DP(t). (96) 

2. 3(!$G�5 D2(t) — �&����0 ����&�� &��������� $�%�" )�&�0 $����"� D2(t) � �[rik(t)]2�R 0. 
A�" !"��(�* ���%� $�%�� #�)����/ ��� �&����� �� �����&��8� )&��#������� �����&� rik(t) �� 
��$�8� ��=�.  

����� ��� �&������� )�?�$ ri(t) � ri, ri(0) � 0
ir  � �.�. 

D2(t) = �[rik(t)]2�R 0 = �(rk – ri) 	(rk – ri)�R 0 = � 2
kr  + 2

ir  – 2rkri�R 0 = �( 2
kr  + 2

ir  – 2rkri) + (2rk 0
kr  – 2rk 0

kr ) + 
+ (2ri 0

ir  – 2ri 0
ir ) + (2 0

kr
0

ir  – 2 0
kr

0
ir ) + [( 0

kr )2 – ( 0
kr )2] + [( 0

ir )2 – ( 0
ir )2]�R 0 = �[ 2

kr  + ( 0
kr )2 – 2rk 0

kr ] + 
+ [ 2

ir  + ( 0
ir )2 – 2ri 0

ir ] – [( 0
kr )2 + ( 0

ir )2 – 2 0
kr

0
ir ] – [2rkri – 2rk 0

kr ] + [2ri 0
ir  – 2 0

kr
0

ir ]�R 0 = 
= �(rk – 0

kr )2 + (ri – 0
ir )2 – ( 0

kr  – 0
ir )2 – 2rk 	(ri – 0

kr ) + 2 0
ir 	(ri – 0

kr )�R 0 = 
= �(rk – 0

kr )2 + (ri – 0
ir )2�R 0 – � 0

kr  – 0
ir )2�R 0 – 2�(rk – 0

ir ) 	(ri – 0
kr )�R 0. 

�� &�#��%��� !"��(�* D2(t) �� �"$$" �&�� �&�����, ��%��� �# ����&�� $�%�� =��/ ��'��-
���� )� �����/�����. 9�&��� )&���������� ��=�0 !"��(�* 2R2*(t) (93), ���&�� — �&����0 
����&�� ��'��/��8� &��������� L2 (92). 	&��/� ���8��$�� ����&%�� ��&&�����& IDP*(t), &����0 
�&����$" �����&��$" )&��#������* �����&��, �������*+�� ��'��/��� )���%���� ����0 $�-
���"�� � ���"+�� )���%���� �&"8�0:  
 IDP*(t) = �[rk(t) – ri(0)] 	[ri(t) – rk(0)]�R 0. (97) 
����, )��"'��$  
 D2(t) = 2R2*(t) – L2 – 2IDP*(t) = 2R2*(t) + L2 – 2IDP(t). (98) 
� "'���$ !�&$"�� (94), $�%�� ���%� #�)����/  
 D2(t) = 2R2(t) – Corr_R(t) + L2 – 2IDP(t). (99) 
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> ��"� )�������� !�&$"��� ��)��/#���� ��&&�����&  
 IDP(t) = IDP*(t) + L2 = �[rk(t) – ri(0)] 	[ri(t) – rk(0)]�R 0 + L2, (910) 
����&�0 "��=��� IDP*, �=� �=&�+����� � �"�/ )&� t = 0. 

3. 3(!$G�5 C2(t) — �&����0 ����&�� �#$������ &��������� $�%�" )�&�$� $����"�. 
C2(t) � �[rik(t) – rik(0)]2�R 0 = �(rik)2�R 0 + �( 0

ikr )2�R 0 – 2�rik
0

ikr �R 0. 
B��'��, 
 C2(t) = D2(t) + L2 – 2�rik

0
ikr �R 0 = D2(t) – L2 – 2Corr(t). (911) 

J�&$"�� (911) ������ ��&&�����& &��������� $�%�" )�&�0 '����(  
 Corr(t) = �rik(t)rik(0)�R 0 – L2 = �rik(t)rik(0)�R 0 – �[rik(0)]2�R 0, (912) 
����&�0 &���� �"�* )&� t = 0. 

9��������� � (911) ��&�%���� ��� D2(t) �# (98) � (99), )��"'�$ 
 C2(t) = 2R2*(t) – 2[IDP(t) + Corr(t)] = 2R2(t) – Corr_R(t) – 2[IDP(t) + Corr(t)]. (913) 

4. 3(!$G�5 Corr_V(t) — &�#����/ $�%�" ��&&�����&�$� DP(t) (95) � IDP(t) (910). 
Corr_V(t) � DP(t) – IDP(t) = �(ri – 0

ir ) 	(rk – 0
kr )�R 0 – �(ri – 0

kr ) 	(rk – 0
ir )�R 0 – �( 0

ir  – 0
kr )2�R 0 = 

= �rirk – 0
ir rk – ri 0

kr  + 0
ir

0
kr  – (rirk – 0

kr rk – ri 0
ir  + 0

kr
0

ir )�R 0 – L2 = 
= � 0

ir 	(ri – rk) + 0
kr 	(rk – ri)�R 0 – L2 = �( 0

ir  – 0
kr ) 	(ri – rk)�R 0 – L2 = �rik(0)rik(t)�R 0 – L2. 

����'����/�� #�)�?�$: 
 Corr_V(t) � DP(t) – IDP(t) = �rik(0)rik(t)�R 0 – L2. (914) 
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